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MA – FR Answers

Chapter 1 Property, Plant and Equipment
Answer 1

	
	$000

	List price (after trade discount)
	90

	Installation costs
	18

	Pre-production testing
	10

	
	118


Answer 2

Only those costs which are directly attributable to bringing the asset into working condition for its intended use should be included administration and other general overhead costs cannot be included . Costs included should only be normal, not abnormal, costs.

	
	Total
	Exclude
	Include

	
	$000
	$000
	$000

	Purchase price of land
	250,000
	
	250,000

	Stamp duty
	5,000
	
	5,000

	Legal fees
	10,000
	
	10,000

	Site preparation and clearance
	18,000
	
	18,000

	Material (Note 1)
	100,000
	25,000
	75,000

	Labour (150,000 – 9,000) (Note 2)
	150,000
	9,000
	141,000

	Architect’s fees
	20,000
	
	20,000

	General overheads
	30,000
	30,000
	

	
	583,000
	64,000
	519,000


Notes:

1.
The costs of spoiled material and faulty design are abnormal costs.

2.
The $9 million labour cost incurred during the period of the stoppage is an abnormal cost and is excluded.

Answer 3

(a)(i)

Property, plant and equipment are tangible assets that are held by an enterprise for use in the production or supply of goods or services, for rental to others, or for administrative purposes and are expected to be used during more than one period.

An item of property, plant and equipment should be recognised as an asset when it is probable that future economic benefits associated with the asset will flow to the enterprise, and the cost of the asset to the enterprise can be measured reliably.

(a(ii)

The initial cost of an item of property, plant and equipment comprises its purchase price and any other costs directly attributable to bringing the asset to working condition for its intended use.

The purchase price is taken after deduction of any trade discounts or rebates (but not early settlement discounts), but includes import duties and non-refundable purchase taxes.

Directly attributable costs are the incremental costs that would have been avoided had the assets not been acquired. These costs include:

· The cost of site preparation;

· Initial delivery and handling costs;

· Installation costs;

· Professional fees such as those of lawyers, architects and engineers; and

· The estimated cost of dismantling and removing assets and restoring the site, to the extent that such costs represent a present obligation of the reporting enterprise.

In the case of a self-constructed asset, the cost is determined using the same principles as for an acquired asset. Cost is measured as the production cost of the asset, which consists of the purchase price of the raw materials and consumables used, plus other costs incurred that are directly attributable to the production of asset. In addition, the production cost of the asset may include a reasonable allocation of production overheads and interest on capital borrowed to finance the production of the asset to the extent that is accrues in respect of the period of production. However, the cost of abnormal amounts of wasted material, labour or other resources incurred in the production should not be included.

(b)(i)

Initial cost of the addition to the plant

	
	$

	Basic list price
	420,000

	Trade discount
	(63,000)

	Shipping and handling costs
	4,500

	Installation costs
	10,000

	Pre-production testing
	12,500

	Site preparation cost
	

	Electrical cable installation (21,000 – 9,500)
	11,500

	Concrete reinforcement
	6,250

	Own labour costs
	11,250

	Dismantling and restoration costs (20,000 + 5,000)
	25,000

	Initial cost of the addition to the plant
	438,000


The early settlement discount and the maintenance cost are revenue items. The sales tax on the plant can be reclaimed by Hanford. The cost of the specification error must be charged to the income statement.

(b)(ii)

Accumulated depreciation on the plant disposed of:

The accumulated depreciation on the plant disposed of is calculated as 10% of $300,000 for three years = $90,000.

(b)(iii)

Hanford Ltd

Corrected schedule of the movement on plant

	
	Cost
	Depreciation

	
	$
	$

	Balance at 1 Jan 2016
	1,624,000
	650,000

	Additions at cost
	438,000
	

	Disposals
	(300,000)
	(90,000)

	Depreciation charge for the year (W1)
	
	176,200

	Balance at 31 Dec 2016
	1,762,000
	736,200


Working:

(W1) Depreciation charge for the year

Depreciation charge for the year is 10% of the corrected cost of plant at the year end, i.e. 10% x $1,762,000 = $176,200.

Answer 4

(a)
This expenditure enhances the economic benefits of the machine by increasing its productivity and therefore would be capitalized subsequent expenditure.

(b)
It would be difficult to argue that the replacement of the windows enhanced the economic benefits of the head office and therefore this would be treated as revenue expenditure and written off to the statement of comprehensive income as incurred.

(c)
The engine of an aircraft is likely to be a separate component asset of the aircraft as its economic life will be substantially less than that of the aircraft itself. The engine will be depreciated over a five year period and the cost of the replacement engine will then be capitalized every five years.
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